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w2 F, form foem =t daf ardmm % fom 2024 7 wa. 'S fE i g e 2

(A) T it favm (B) AR feE

(C) wzar-2 firem (D) wAF-3 fuavA

Recently, which mission received the 2024 John L. ‘Jack’ Swigert Jr. Award for space exploration ?
(A)  Mars Orbiter Mission (B) Gaganyaan Mission

(C) Chandrayaan-2 Mission (D) Chandrayaan-3 Mission

FH W & 2021 § fawiza # FFE g2 F w9 30 w3 a6 T o9 §99 7|17

(A) = OERER (B) fEIEwiE (C) Fguen (D) ST
Which country became the first to make use of Bitcoin as a legal tender in 2021 7
(A) El Salvador (B) Switzerland (C) Venezuela (D) Japan

TR R H TEA A F IR 703 T ST A FEA FE S A Faaw o e TEw aw g ?
(A) HeF (8) Bt (C) Ffage (D) wETEm

Which traditional dance form originating from Uttar Pradesh is recognized for its dramatic storytelling
and intricate footwork ?

(A) Kathak (B) Chhau (C) Kuchipudi (D) Bharatnatyam

WA wEeA = g (PMFBY ) #9187

(A)  EIEETEE I G e AR § e S wEw § g #1 TS E e ee
Ffl

(B) == FW awml #1 fifa #wm ¥ @R frmri #1 39 & fau 3 ge gfiam wm

(C) Ff &= H T SerRA 1 e wa ¥

(D) Sifge & wenadl . wHUA i AgEn qW € o0 wordft Fu falvi w1 e & fen e
HferEl TEm Fe 2

What is the Pradhan Mantri Fasal Bima Yojana (PMFBY) ?

(A) PMFBY improves rural infrastructure and provides employment opportunities to youth in
agricultural communities.

(B) It requlates agricultural markets and ensures fair prices for farmers’ produce.

(C) Supports sustainable production in the agriculiure sector.

(D) Supports and promotes organic farming practices and provides subsidies to farmers for the
adoption of sustainable agricultural methods.

F T A AT G AN U & R =g Fe & A S & fe st e # 2
() sirERfE (B) e c) & (D) wmEEEE

Which country is known for its extensive use of geothermal energy due to its unique volcanic
landscape ?

(A)  Australia (B) Brazil (C) Norway (D) lceland

Tarefta = S gt 1w A Fg AR qZ F Hed § wfafem weran faem)

(A) 1-2 " (8) 10-11 =& (©) 7-s@m@ (D) 4-57m@

The financial or the banking system will receive an additional boost in terms of Crore of
base money each year.

(A)  1-2lakh (B) 10-11lakh (C) 7-8lakh (D) 4-5lakh

i Fl WHE g ?

A) (B) fifim ) = (D) 7
The national currency of Sri Lanka is :

(A) Kyat (B) Ringagit (C) Rupee (D) Euro
YA 1 TaY a2 HUEed A | e 7

(A) TEafa feErst wews T 9w, 9

(B) e S HyREerd, TR

(C) I TUeTer, Frerm

(D) WA Hyererd, T faww

Which is the largest museum in India ?

(A) Chhatrapati Shivaji Maharaj Vastu Sangrahalaya, Mumbai
(B) Salar Jung Museum, Hyderabad

(C) Indian Museum, Kolkata

(D) National Museum, New Delhi

W ST B S T AR T R A e ' 1 s w6E |0 e

(A)  wEEA (B) HAwaTHA (C) #%s IEA (D) e 3BA
The economically secure white people migrated from urban areas to suburbs is called :
(A)  Migration (B) Immigration (C) White flight (D) Black flight

T o S Y Hve difem wewn W AT s amim g 2

(A) T T sEEiEE 5 e i

(B) T T I fagmE F fom o o ¥

(C) & 1 =L 37T o =

(D) T U HEw st A e 4 getie # i gt &

What does “verified account” signify on social media platforms like Twitter and Instagram ?
(A) The account has a high number of followers

(B) The account is used for advertising

(C) The account is frequently used

(D) The account belongs to a public figure or organization and is authenticated

1942 ¥ vvg 121 WIETeH & T0Y WNG %1 a9 FE 97

(A) @€ AEzE (B) wiE oA

(C) g Taafawm (D) =€ F&E

Who was the Viceroy of India at the time of the Quit India Movement in 1942 ?
(A) Lord Mountbatten (B) Lord lrwin

(C) Lord Linlithgow (D) Lord Wavell

T AfusEl F1 g S R e § agae w2
The Universal Declaration of Human Rights is franslated into how many languages ?
(A) 400 (B) 500 (C) 300 (D) 200

FH T FTA I T uEe e T S 9T 9 1 vee e o T 2

(A) e (B) @ iR wrpfaw i fom fafsee

(C) Ifem wifgm FuiwA famee (D) e wftrrw fefaee (GAIL)

Which company has become the first company in India to trade domestic gas on Indian Gas
Exchange ?

(A) Bharat Petroleum (B) Oil and Natural Gas Corporation Ltd.

(C) Indian Qil Corporation Limited (D) GasAuthority of India Limited (GAIL)

2014 H W H e wifq o e we e

(A) FEwgendt  (B) W M (C) e TR (D) med I
Who received the Nobel Peace Prize in 2014 in India ?

(A) Kailash Satyarthi (B) Mother Teresa (C) Nadia Murad (D) Amartya Sen

e foa =1 ygam iy faem & =0 8 g s g 2

(A) T F1 gEE HEER (B) =T = dHA WA

(C) = =1 veen fed (D) = = TN THER

Which day is observed as No Smoking Day 7

(A)  First Tuesday of March (B) Third Saturday of January

(C) First Day of May (D) Second Wednesday of March
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(A) THIR S SFEETFY Fl ¥
(B) T T 1 Wina F ¥ 7 |

(C) erermEET Hifidl 1 wewEn ¥ ¥

(D) =fEw-gd i 3 % W snfede, G ST GiERaE GaHT w1 aeE 6
In relation to ASEAN, what is the importance of India’s Act East policy ?

(A) Reduces trade opportunities

(B) Limits diplomatic engagement

(C) Promotes isolationist policies

(D) Enhances economic, strategic, and cultural ties with Southeast Asian countries

54 F o siida dfy = & afed w A E? A --Select-- Choose File |No file chosen
Which international treaty focuses on the rights of children ?
(A) CRC (B) CEDAW (C) ICCPR (D) ICERD Y | |

55 Wﬁu@’qg‘ﬂﬁﬁeﬁmq’ﬁﬁmmé? A --Select-- Choose File | No file chosen
(A) TR (B) few= €y | (D) TETER
National Milk Day is observed in India, in which month ? Y
(A) November (B) December  (C) June (D) September | |

56 feret formn 3 1 771 %2 D --Select-- Choose File |No file chosen
(A) TR (B) =W (C) F= (D) e
Real is the cumency of which country ? Yz
(A) Afghanistan (B) Bhutan (C) Canada (D) Brazil | |

57 ad 2021 5 =1 & i  werfe 2000 w9 & A 1 e (A feferr ) #nE? D --Select-- Choose File | No file chosen
What is the value (in INR trillion) of Rs. 2000 notes circulated at the end of March in the year 2021 7
(A) 180 (B) 2.00 (C) .00 (D) 4.90 y

I |

58 SAARC =1 Oded s 27 D --Select-- Choose File | No file chosen

(A) TI™ AWIFA THAUEE FH T FIAGEA 4

(B) H3Y-%r2 ufvrar wEfETeE Wi feee i

(C) w3y wafiEa vHifauyH H f9qa FisiaeE

(D) WY UYEE THTETIE i S R

SAARC stands for :

(A} SouthAfrican Association for Regional Cooperation
(B) Southeast Asian Association for Regional Cooperation
(C) South American Association for Regional Cooperation
(D) SouthAsian Association for Regional Cooperation

>9 T 1 F # i e um 22 b --Select-- No file chosen
(A) I eTEg (B) «FdE * §H AETH P
(C) e (D) gHfd | |
Who has the power to dissolve Lok Sabha ?
(A) Speakerof Lok Sabha (B) Chief Justice of India
(C) Prime Minister (D) President
60 ST F -;;-T‘E qITC =1 T;f raudcs B A --Select-- Choose File | No file chosen

(A) T e e Z
(B) RS HH A

(C) %2%e 22 FmH (iafis =ram arfrsg)

(D) %A@ o5 Fad (a1 aroeg)

In terms of economy, what is the full form of ITC ?

(A) Input Tax Credit

(B) International Tax Company

(C) Internal Trade Commerce
(D) Internal Tax Commerce

61 freafafas § 4 F1 Teem T mi i TR S st (MGNREGA) F1 T v E 2 D --Select-- Choose File | No file chosen
(A) it & ¥ Temm T T
(B) FE@ TUw A0S N @I FE1 Y

(C) vl P Iuere FaT | |
(D) wfdad 100 f& F 37 Jorm &1 WA

Which of the following is a feature of the Mahaima Gandhi National Rural Employ ment Guarantee Act

(MGNREGA) ?

(A) Offering employment in the private sector

(B) Targeting only skilled labor

(C) Providing urban employment

(D) Guaranteeing 100 days of wage employment per year

62 A F 0 D --Select-- No file chosen
(A) T S AT F SHEER AT A A |
(B) ST it Faw UIHl F1 AT T
(C) SIfa S W= 1 T F3 ¢
(D) SIS SATEl S % SRR W S A
Who are ethologists ?
(A) Scientists who study the behaviour of humans
(B) Scientists who study only planis

(C) Scientists who study ethos
(D) Scientists who study the behaviour of wild animals

63 g e Afutrn, 1956 e A war M E 2 c --Select-- Choose File | No file chosen

(A) EEEE FT (B) TEA R (C) &+ (D) ¥
National Highways Act, 1956 is applied to which tax policy ? 4 | |
(A) Professionaltax (B) Entrytax (C) Toll tax (D) Servicetax

64 DDoS F1 ¥ HH £ C --Select-- No file chosen
(A) = femam wiw |y (B) Teiwe fergm «iiw widw
(C) fefgeps fomm siw affe (D) Tefigegs 3o aifw ofdm
Full form of DDoS is 2
(A} Direct Denial of Service (B) Detailed Denial of Service
(C) Distributed Denial of Service (D) Distributed Data of Service

al |
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A 1 aqF F2 (qd F1 S 2w Aifa 1 ge svm e i

(A) T TW o 29 W HE SR S e

(B) UH ufvrn ¥ 3w F Wiy WiEHfaw SEH-wEA AR AT F o= O =g

(C) =fem-yd ufern % W e o amfEr SEsT %1 aeE

(D) 9 * ¥R T T w1 =gE

What is the main purpose of India’s Look East Policy ?

(A)  Improve relations and trade with European Union countries.

(B) Enhance cultural exchanges and people-to-people contacts with countries in East Asia.
(C) Strengthening economic and strategic ties with Southeast Asia.

(D) Promote agricultural development within India.

gHlerR] 5T Wi T2 OTT 9Hia - faeel %9 =1 fHawa e 2

(A) e e (B) Tt Fzm

(C) Towma vrg= (D) TafE@ smeami

Who directed the critically acclaimed Netflix OTT series - Delhi Crime ?
(A) HansalMehta (B) Richie Mehta

(C) Vishal Bharadwaj (D)  Nikhil Advani

wiag T ' E e atw g A’ fas gm foef W 22

(A) TH.UH FH (B) g =wg (C) uimg =l (D) fa= frm
Famous book The Return of the Native' is written by whom ?
(A) MM. Kaya (B) Lioy Douglas (C) Thomas Hardy (D) Bill Gates

TE Tt § 9 e 1o § us e e

(A) TR (B) iz (C) wemm (D)  wrEEE
Ellora is a sacred site in which of the following state ?

(A)  Gujarat (B) Karnataka (C) Maharashtra (D) Rajasthan
s 1§ T 3w g 2

How many countries are present in Africa ?

(A) 50 (B) 54 (C) 52 (D) 56

A A T e

(A) TS T At (B) T arei w1 auhd fard sifvEm

(C) UA-UEER ST (D) wF¥ER T wdFaR A atiEe
What is the ‘Operation Green Hunt'in India ?

(A)  Anti-Naxalite operation (B)  Anti-drug trafficking operation

(C) Anti-piracy operation (D) Counter-insurgency operation in Kashmir

TeATTerga e (=N ) A m F E?

(A) wETE (B) Te=fa (C) =wEmWR (D) “T=p
Galilean satellites (or the four moons) belong to which Planet ?
(A)  Satum (B) Jupiter (C) Uranus (D) Neptune

TENE, FIE R T E .

(A)  =EEE T (B) T=Ewm (C) T Hug (D) e Huf|
Trademarks, copyrights and patents are :

(A) Current assets (B) Investments (C) Fixed assets (D) Intangible assets

Frafafag § 4 Fi= = 39 wErmmen § faftm FeE dema o 3 e geen 9 w?

(A) @'f%ma EERE] (8) W

(C) W7 1= swEfEm (D) TmweE THTeA

Which of the following countries was the first to achieve controlled nuclear fusion in a laboratory
setting ?

(A) Soviet Union (B) France

(C) United States of America (D) United Kingdom

1 doper § gAge § Ted A1 IS SHA B weer vt ¥

(A) = fagafem (B) Fefmtgm (C) I-T@=i=m (D) fefa
involves changing data prior or during input into 2 computer.

(A) Datadiddling (B) Catfishing (C) E-mail bombing (D) Smishing

U (WPI) F1 g0 &9 2

(A) E TEE 2T (B) & fiiz Bwm

(C) Frade wEh F290 (D) 7= wrm
The full form of WPI is :

(A) Wall Price Index (B) Whole Print Index
(C) Wholesale Price Index (D) Whole Price Index

30 TR F AT 1.2 ¥1 390 T IR 20 F1 209 1.1 ¥ 3R 9 0 F o 1 8 A oifm e E?

The average of 30 numbers is 1.2. The average of the first 20 of them s 1.1 and that of the next 9is 1.
Then the last number is :
(A 4 (B) 5 (C) 46 (D) 49

A 1 BIEH 94 F i 66 HH/HF st gH Fva & W 7w 1 7 55 T H €, 9 e W, 9w
T T werell 22

Excluding stoppage, the speed of bus is 66 km/hr and including stoppage it is 55 km/hr. How many
minutes does the bus stop per min ?

*) 20 (B) 10 (©) 15 (D) 19

=T F A S fawE = w40 TR st 30 w e #1236 i
W ¥ Toern S =fe A oA i 32 9/ R A e a A |E g ?

The ratio of quantities of sugar in which sugar costing Rs. 40/kg and Rs. 30/kg. In what ratio both
sugar should be mixed so that there is no gain or loss when the mixture is sold at Rs. 32/kg ?

A 4:1 B) 1:4 ) 221 (D) 3:1

300 =gl F 4 TEE, 500 TgHl F %F Ued F AWELE, 9 w0 q1 A giawd 76 Frad |
S.P. of 300 articles is equal to C.P. of 500 articles. Find the loss or profit percentage.
(A)  66(2/3)% (B) 24(2/3)% (C) 25(2/3)% (D) 72(2/3)%

TF TR =T H, A T W9 F 1/6 F 0 S # 1/6 9m M A E, B 9 % 14 % o
it 1 174 T P A # iR C I s e <+ for A e R, 1940 w08 % @ | B famm
R E?

In a partnership business, A invests 1/6™ of the capital for 1/6 of the total time, B invests 1/4" of the

capital for 1/4 of the total time and C, the rest of the capital for the whole time. Find the share of B, out
of a profit of Rs. 1940.

(A) Rs.160 (8) Rs.180 (C) Rs.200 (D) Rs. 120

e Forell 3 W S e 40% s sifhd &)1 At 9% ¥ s TeE W g2 W &, 1 12%
=1 i T W B ¥ | 279 I UF S HT Yo 2,400 FH ¥ AR k%% o Fifed €, A T
=1 fas= o9 1 2 =fen ?

An article is marked 40% above the cost price. If a discount of x% Is given on the marked price of the
article, then a final profit of 12% is obtained. Now if C.P. of a new article is Rs. 2,400 and x% profit is
desired then what should be the selling price of that new article ?

(A) Rs.2,830 (B) Rs.3.480 (C) Rs.2,400 (D) Rs. 2,480
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= g o gem fomd 990 3 1330 =1 fawfaa $9 W F99: 6 3R 10 Iowe wrE B E
The greatest number which divides 990 and 1330, leaves remainder 6 and 10 respectively is :
(A) 15 (B) 20 (C) 24 (D) 35

afg 6 BT 1 S 9w 50 fFm 2; 2 BT o SieE 9 53 R R, @i 2 o & sime wss R E
it Tl s
(A) 55fFm (B) 51.6fFm (C) &4 fFm (D) 52.5 &

If the average weight of 6 students is 50 kg; that of 2 students is 53 kg: and that of 2 students is 55 kg;
then the average weight of all students is :

(A) 55kg (B) 51.6kg (C) 64kg (D) 52.5 kg

T AR F 80,000 ¥ T u Hren ST wF ML W | 39 9L F 10% F A9 R/ AR ML H 5%
A T A A | T S QA W 1% T o e, A ) we ge e ?

A man bought a horse and a carriage for Rs. 80,000. He sold the horse at a gain of 10% and the
carriage at a loss of 5%. He gained 1% on his whole transaction. What is the cost price of the
horse ?

(A) 18,000 (B) 20,000 (C) 30,000 (D) 32,000

Al TR AR @ Y w7 Y U EY T WA, AW e e
Hifa |

(A) 154 T (B) 150t (C) 1187 (D) 126t

Atrain is running with a speed of 79.2 km/hr and it crosses a pole in 7 sec. Then find the length of the
train.

(A) 154 m (B) 150m (C) 118m (D) 126 m

3 T T I AE 31 4: 6 %, T FA g0 FAA 3N 99 FE H w0 A THA A9 FE 2

The ratio of speed of 3 cars are 3 : 4 : 6. What is the ratio of time taken by these cars to cover the
same distance 7
(A) 4:3:2 (B 2:3:5 (C) 3:4:6 (D) 6:4:3

50% &R 40% 1 HiHF T2 el Tha g2 F a0 8?7
Successive discounts of 50% and 40% equal a single discount of :
(A)  70% (B) 48% (C) B0% (D) 20%

=2 33 o9 1 7% F9 973 F 8% + 909 i 3 a5 o3 1 9% F9 4ed 1 2 ¥4 § 10% fu+
&, @ 79 g oin fasa e 9 it |

If 7% ot S.P. is equal to 8% of C.P. and if 9% of S.P. is Rs. 2 more than 10% of C.P, then find C.P. and
S.P.:

(A) 700, 800 (8) 800,950 (C) 350, 700 (D) 350, 400

e faenei 3 6 We-TET i udan ) W WA % A sfisem ofF ueeed ¥ 1 ww-uE § I6E
WA 5:6:7:8:9:10 F UM ¥ § | Tl oeTemt 357 60% 375 W FoFw | 39 T wor-weii § aaferas
3T F 60% H FA 3F Ww FFu?

Astudent appeared in 6 papers. The maximum marks are the same for each paper. His marks in this
paper are in the proportion of 5:6:7:8:9:10. Overall he scored 60%. In how many papers he received
less than 60% marks ?

(A) 4 (B) 5 c) 2 (D) 3

39 =AfF WfaEd 10 ¥e W 0 12 il 8 U g 1 700 %7 Wahd 8, o 30 =t Wafed 6 5w
FH F4 1 T fa=i 8 qu F 2
(A) 14 f (B) 15f& (C) 20f& (D) 28 f&

39 persons can repair a tunnel in 12 days working 10 hours a day. In how many days will 30 persons
working 6 hours a day complete the work ?

(A) 14 days (B) 15days (C) 20days (D) 26days

ATF F F1 63 farAl F 7 W & 3R B, A F1 go H 40% HuF F T, 91 36 F F FH B gW
fom o o 1 gEm A E2?
(A) 45 e (B) 49 feA (C) 40 f& (D) B0 f&

Acan do a piece of work in 63 days and Bis 40% more efficient than A. Then the number of days taken
by B to do the same work is :

(A) 45days (B) 49days (C) 40days (D) 60days

0.7, 0.35,1.05 1 9.9.9.( HCF) I/ ifa |
Find the HCF of 0.7, 0.35,1.05.
(A) 0.35 (B) 1.005 (C) 0.07 (D) 07

e fafem e T2 9 & fau 5% #1 T § Jwagfs = 3280 ¥ F, 91 4w ufw e £ 2
The compound interest on a certain sum of money for 2 years at 5% is Rs. 3280. Then the sum s :
(A) Rs. 32000 (B) Rs. 34000 (C) Rs.30000 (D) Rs. 36000

12,000 ¥74 72 9 TEH % e 20% Wi = =1 =1 4 =hafs =1, T%gis = e ¥

The compound interest on Rs. 12,000 for 9 months at 20% per annum, interest being compound
quarterly is :

(A) Rs. 2136 (B) Rs. 1750 (C) Rs. 1891.50 (D) Rs.2089.70
HafiE e =16 -

oo agys A ;7

A = (B) HHEHH € =y D) T

Find out the related word :
Triangle : Polygon :: Square : 7
(A) Rectangle (B) Rhombus (C) Quadrilateral (D) Circle

Az 7= '‘RECONCILE’ % 439, 5%, 74 31 8% 1arli A = Welw =1 307l 1 98 AP o1 FFa1 21 F
Tl = AR Fh R speiqol wres SR W HA €7

) @ (B) =W (C) T (D) =

If a meaningful four letters word can be formed from the 4™, 51 7! and 8! letters of the word
‘RECONCILE'. Using that letters how many meaningful words can be formed ?

(A)  Three (B) Four (C) One (D) Two

e fafara gz Wi H, ‘FLOWER' 1 ‘RFOELW' % %4 & S faran oman &, a1 ANIMAL %139 Warr forean
S

In acertain code language, ‘FLOWER' is coded as ‘RFOELW', then ‘ANIMAL' will be written as :

(A)  LANJAM (B) LAJDNM (C) LAIANM (D) LANIAM

=5 fased 1 9 Tord st 3w Ha %1 A i E 5 fau T Hen 3w g e o
Select the option in which the numbers share the same relationship as that shared by the given pair of
numbers.

12:20

(A) 30:42 (B) 25:57 (C) 34:31 (D) 19:33

https://ctcp24.com/KeyChallenge/Candidates/Challenge.aspx

--Select--

--Select--

--Select--

--Select--

--Select--

--Select--

--Select--

--Select--

--Select--

--Select--

--Select--

--Select--

--Select--

--Select--

--Select--

--Select--

--Select--

UPPRPB

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

8/12


https://ctcp24.com/Qimg401/M2NA1354.jpg
https://ctcp24.com/Qimg401/M2NA1036.jpg
https://ctcp24.com/Qimg401/M2NA1280.jpg
https://ctcp24.com/Qimg401/M2NA1372.jpg
https://ctcp24.com/Qimg401/M2NA1465.jpg
https://ctcp24.com/Qimg401/M2NA1235.jpg
https://ctcp24.com/Qimg401/M2NA1447.jpg
https://ctcp24.com/Qimg401/M2NA1133.jpg
https://ctcp24.com/Qimg401/M2NA1591.jpg
https://ctcp24.com/Qimg401/M2NA1579.jpg
https://ctcp24.com/Qimg401/M2NA1311.jpg
https://ctcp24.com/Qimg401/M2NA1136.jpg
https://ctcp24.com/Qimg401/M2NA1150.jpg
https://ctcp24.com/Qimg401/M2MA1289.jpg
https://ctcp24.com/Qimg401/M2MA1196.jpg
https://ctcp24.com/Qimg401/M2MA1533.jpg
https://ctcp24.com/Qimg401/M2MA1752.jpg

9/13/24, 8:04 AM

99

100

101

102

103

104

105

106

107

108

109

110

111

Join lelegram Group "HaryanaJdobs.in®

YR i 9 iR TEag Fewt) e w5 e w1 S e 'R awmesi # wes) S w5 9

gomd: L o g % o € g e & e
L i G i E
frepd: 1. o o

2. HEIEEH A R
(A)  FaE Ferd 2 S Fw ¥ (B) A Frerd 1 2 A # 2 HTEw R
(C) Faw Fepd 1 SFET ¥ (D) B e argEm
Read the assumptions and select the best conclusions/conclusion that follow/follows the assumptions
definitely.

Assumptions: | Ajay is the father of Shreyas, Suraj is the brother of Shreyas.
L. Seema is the mother of Shreyas.
Conclusions : 1. Seema is the wife of Ajay.
2.  Seema is the mother of Suraj.
(A) Only Conclusion 2 follows (B) Neither Conclusion 1 nor 2 follows
(C) Only Conclusion 1 follows (D) Both the Conclusions follow
Haiftrd wisg &1 qal @ |
v Tafeees gl A : 7
(A) = (B) (C) wmER (D) F4W

Find out the related word.
Surgeon : Scalpel :: Carpenter : 7
(A) Brush (B) Saw (C) Computer (D) Camera

TreAfad # & M m st wieenst, T o e F &= ge6 B we o g smme?

Which of the following diagrams best represents the relationship between Women, Mothers and
Fathers 7

O % Q0@

Ifg A gd FT 3 Fe w0 @S & i 270 feull arad 8w E, @ o R fem 1 i dr v wd
#?

(A) T B8) = (C) wfEm (D) =famr
If you start facing East and turn 270 degrees anticlockwise, what direction are you facing now ?
(A) North (B) East (C) West (D) South

et wom 3, A fou o v & wy A e v few e ¥ 8 v v e e v & e
I F T A A T E | 3 9 H I |
fem T v : “MACHINES®

In the following question, you'll find four other words provided alongside a given word. One of these
words cannot be formed using the letters of the given word. Can you identify that word ?

Given word : “MACHINES”
(A)  NAMES (B) CAMEL (C) MESH (D) SEAM

4 famn T AR T & e T 2006 3R 2007 F A U yEEE S F 2 Al § wwa #
fasi (1000 1 Hen H) soia 2

The bar graph given below shows the sales of books (in 1000s) from six branches of a publishing
company during two consecutive years 2006 and 2007.

2006 T 2007 & UF WA FHUA F TE ARGEAT - A1, A2, A3, Ad, A5 T A6 H TR 1 Tk (FEm
e F)

Sales of Books (in thousand numbers) from Six Branches - A1, A2, A3, A4, A5 and A6 of a publishing
Company in 2006 and 2007.

A2 A3 Ad
2006 W 2007

ST =l % forn wmen A2 =i 5= st = 2 ot =+ forw e A4 1 F faent F s e 2

‘What is the ratio of the total sales of branch A2 for both years to the total sales of branch A4 for both
years ?

B) 6:7 (B) 5:7 ©) 8:9 () 7:9

FreafafEs sFg F Al ¥ = F 3R TEE 9 o 9 9 & S e
RK59#B2%*E?A8LS$14SV7ICBN@H13&D

& T e #§ aven s fauifa #1542, 078, $4V,
Examine the following sequence closely and respond to the questions that follow.
RK59#B2%“E?A8LS$14SV7ICE6N@H13&D

Determine the next term in the series : 5#2, *78, $4V,

(A) L8% (B) He# (C) @ (D) H1&

Y i T F R g W e v e, 3 He W, 0 @l uwe e e A # 2

(A) T FE T R T

(B) W e § qE T

(C) =AwIN 1 F

(D) T | T

In the context, “They were caught red-handed trying fo steal”, what does “caught red-handed” imply 7
(A) Caught in the act of committing a crime

(B) Foundinjured

(C) Act of kindness

(D) Found with red-hands

3 THT F T S U F1 Q0 FE
Identify the figure that completes the pattern.
NN
] ?

)
X)

(A) :’/; (B) % (©) % (D) :/,-/

G A%B=A+B—1, 1 10%2 FNE?
IfA%B=A+B—1, whatis 10% 2?

(A) 12 (B) 20 C) 5 (D) 11
& M HEe § g FET THE 96 Fe

Find the missing letter cluster in the given series :

BYHN, CWKM, EUNL, ,LATJ

(A) HRPQ (B) GSPK (C) GRPK (D) HSQK

Frfated § 4 #7 w a9Fg T G e E?

Which of the following sequences is different from the rest ?

a 1,4,9,16 b. 1,8,27,64
c. 2,6,12,23 d. 1, 16, 81, 256
A) 2,6,12,23 (By 1,16,81,256 (C) 1,4,9, 16 (D) 1,8, 27,64

e # o HEAn (A 3R B) FW F W B —A 1 9H IW Fi

Find the missing numbers (A and B) in the series and find the value of B — A.
11, 22,33, A, 55,66, 77, B

(A) 88 (B) 33 (C) 44 (D) 55
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200 T % THEW F AT, 140 TH 1 Hies g e ¥, 120 o % foesis wie 2, oinso wEi
=1 26 wee ¥ | fred o 1 w9 @ w5 uE i v R

Based on a survey of 200 students, 140 students like cold drinks, 120 students like milkshakes, and
80 students like both. How many students like at least one of the drinks ?

(A) 140 (8) 180 ©) 75 (D) 200

e =l 10 Wit I # 30 =em g, e 20 e e i wea §, st 20 e #in wem 2, e S
10 2 31 SR T ¥ 9 IF 9 2@ 9% e g g w2

(A) 51 = (B) 25 (C) 45 %= (D) 28 =

A person moves 10 meters north, then 20 meters to the right, then 20 meters to the right once more,
then 10 meters to the right again. How far has he gone from the beginning ?

(A) 51 meters (B) 25 meters (C) 45 meters (D) 28 meters

sfgel 1, 6, 23, 76, T T T I Fife |
Find the next number in the series 1, 6, 23, 76, .
(A) 148 (B) 198 (C) 237 (D) 274

7fz RED F1 UHG % &1 F #ifed f a1 &, @ BLUE +1 fFg w9 ¥ =ifeq fn wmom 2
If RED is coded as UHG, then BLUE will be coded as :
(A) EOHU (B) EOHX (C) FMUH (D) EOXH

R A H A T 55 R § v A 62 fFe § #8 T E i i 9 wen 7 E o
3% T ¥ T s %1 w50 TR # I @A 60 e 9 F9 # 1 35 9 w1 e g T, 3w
=9 58 el # Al T T T 713 T 9 oTAR § w E, A s F fafve dwfe vl =
AHaFnE?

In Karthik's opinion, his weight is greater than 55 kg but less than 62 kg. His father does not agree with
Karthik, and he thinks that Karthik's weight is greater than 50 kg but less than 60 kg. His sister’s view
is that his weight cannot be greater than 58 kg. If all are correct in their estimation, what is the average
of the different possible weights of Karthik ?

() 60 () 59 ©) 58 (D) 57

o1 ves @ |

Find the dissimilar word.

R54, W68, U3, L36, Y75

(A) Ue3 (B) Y75 (C) We8 (D) RS54

wF HEm AR E N F U, S HD, R FQ, O FP, TEK, M F L, CAF M ARG F S
fermn =T ¥, 1 39 7 § ORGANISM' F3 forgn smom ?

In a certain code, ‘N'is written as 'J’, 'S'as ‘D', 'R'as ‘Q, ‘O'as 'P','I'as ‘K, M'as ‘Z', ' A'as'M’'and'G"
as 'S’, then how will 'ORGANISM' be written in that code ?

(A) DZMSJPQK (B) PQMKJZDS (C) PQSMJKDZ (D) PQDZSMKJ

e U U AR, I T, 5 A AL S S afer s e 92 wiEn F 99 o e 9
e A R wm g

A party consisted of a man, his wife, his four sons and their wives and three children in each son's
family. How many were there at the party ?

) 2 (B) 23 ) 18 (D) 20

o= fam = 44 1, o fam 1 g fen &, 135 el g e ¥ afe gum =g 6w f famn s @
efem-afam fFa fam § Fm?
() ST B w (C) =W (D) Sw-fEm

In a compass every direction is rotated to 135 degrees from the original direction. In which direction
will South-West be if the rotation took towards clockwise direction ?

(A) North-East (B) East (C) North (D) North-West

4fz A 3in B & = w5y d i, A ol %1 e 20 % B 1 @l &1 T 18 ¥ @i A sin g a4l §
Tl i TEA 10 7, o n(A w B) I Fiteg |

If Aand B are two sets such that number of elements in Ais 20, number of elements in B is 18 and
number of elements in both Aand B is 10, find n(Aw B).

(A) 48 (B) 18 (C) 28 (D) 38

T HEA1, 12, 144, ..., 20736 F1d FHIoQ |
Find the missing number 1, 12, 144, ..., 20736.
(A) 1782 (B) 1287 (C) 1728 (D) 1278

M, N, O, P #it Q= i % | 398 & wels 1 5ot stem-o1em 21 O, P 3T N & o i Faa M iR
QAT ¥ FIA U AR N G I ) g wm R

M, N, O, P and Q are five friends. Each of them has a different height. O is taller than P and N and
shorter than M and Q only. Only one person is shorter than N. Who is the shortest ?

(A) O (B) N © P (D) M

oz 9153 TLBSBEAKLA F A& o1 [Hdaiter 1% U el &1 A1 531 =1 2, 7 B & 719 % =i 91
oy w5 = Fm?

If the name of a game is formed by rearranging the letters of the word TLBSBEAKLA, then what will be
the sixth letter from the right end of the name of the game ?
(A) B (B) s € E o T

3 TS 9E 1 =2 1 R e 6 g % A= e am e
What is the angle between the hour and minute hands of a clock at 3 o'clock ?
(A) 50° (B) 75° (C) 90 (D) 30

T 5.3 + 243 = 24.249 T 71 /192 +1543 FTF FNEM?
] .SJE ++/243 = 24.249 , then what will be the value of .J192 +1543 ?

(A) 37.84 (B) 40.84 (C) 39.84 (D) 38.84
W o8 & T W AH F e g6 Fie |

Find the number that comes in place of the question mark.

1:1:2:169

(A) 13 (B) 18 (Cy 14 (D) 15

48 759 0F FW 1 14 fodl # wwwa €112 ol § 5 qedl g fee o w5 e am i
48 men can do a work in 14 days. Find the amount of work done by 5 men in 12 days.
(A) 9.8% (B) 7.9% (C) 8.9% (D) 13.5%

6 FTHRA U, VW, X, Y SRz 58, 7= 9@ 2 ;U +9 B %0 3 =ifdl A s W, v A e g <1 &
1R AN I X, WH SRR 21Y, U B e 23X, US 921379 9 = 5ed o= 51 2 7
Among 6 persons U, V, W, X, Y and Z, it is known that; U is taller than at-least 3 persons. W is taller
than V, who is taller than exactly 1 person. X is not shorter than W. Y is taller than U and X is shorter
than U. Who is 4! tallest among them ?

A W (B X © v (0) U

Tt W A TEe o el 10 e | afem # # 8 Hiew wer ¥ | i 5 a1 S g § A i
et o wg= & ferg 15 e =emn §1 T ag wd =1 fawia fam § oo ferft wem & sin ww wiw o=
T F T 8 Wi wem ¥, 9 96 S gEe ¥ sl mds % o 8 e o ¥ fo F mF He e
¥ wrters fm fam # 22

(A) = (B) T c) w (D) fEm

Lihaan walks 8 m towards South from his office to reach park. Then he takes left and walks 15 m to
reach traffic signal. Then he turns 90 degree anti-clockwise direction and walks 8 m to reach cofiee
shop, he takes left and walks 8 m to reach home. Office is in which direction with respect to Lihaan's
home ?

(A)  South (B) North (C) East (D) West
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& i sjmen 4§ 4 Ahe W
Find the odd one from the given series :

4,16, 36,64, 100,121,196, 256

(A) 100 (B) 256 (C) 36 (D) 121

e =1 == 14
Find the odd one.

{ ] [ ) ( ] (]
& W[ e[ e[
® ® [ ] [ )

FA-H1 7= FHE H AE £ 7

(A) Fen (B) #= (c) = (D) TR
Which word does not belong in the group ?

(A) Banana (B) Apple (C) Cherry (D) Carrot
=% faseq 37 =i wifwal 9 i &

(A) IR (B) =fem amfem  (C) T (D) =0 s
Choose the option which is different from the rest.

(A)  Argentina (B) SouthAmerica (C) Europe (D) NorthAmerica
Azt i umnd JoE FG E2?

(A) ST T e E (B) i il F feer Fm

(C) TFf wergd e #1 i = ¥ (D) =EH FHEHA U B T

How are rivers and streams similar ?

(A) Both are found in deserts (B) Both are static bodies of water
(C) Both flow downbhill (D} Both contain saltwater

faweq A, B, C siR D o A o3 (X) 1 W& siw-wfafss g0

Choose the correct water-image of figure (X) from alternatives A, B, C and D.

L e |

(X)
& | & | e | & ]
G (8 © (®)

Fop fen 2 o weel % WA A vl e

1 TEA, 2023 7 # 23 § 28 A9 & A4

F A @ U aeE )

FH | FH 60% Al F WE FO TAHIE § g fo

g H 50 F | e 25 HE |

=fe IfieaR F wE PG 7@ 8 41 wen afts Her wew F 9w 9 )

o THEER $2ve] | AR 3% WIE T F g, 6 AW w0 e & e s | g

ofe IfEaR S =i 1 SreE o T Arame F1 @ F €, 9 0w %y F e i

SAE

FefafEa S & ST W A FER oS- e w5 S e 2

TEY FEN : M.Sc. T R TIEH 62% HHi F W | 59 o9 : 10 o, 1990 | FopR fog+ & w9 §

4 T F1 A7 |1 32505 F 40% #HF W fF )

(A)  FEIEER = T T S

(B) % eHE #

(C) =rem %% & TR 9= 9

(D) IiTEAR F R HHT HE F €9 H A §

Consider the conditions for selecting faculty members in a computer education centre :

Age between 23 to 28 years as of November 1, 2023.

Work experience or programming experience.

Postgraduate degree in computer application with at least 60% marks.

Minimum of 25 marks in the interview out of 50.

If the candidate does not have PG, the case is to be referred to the senior faculty member.

If the candidate does not score minimum marks in the interview, the case is to be referred to

principal of the institute.

g. Ifthe candidate satisfies all other qualifications except the age limit, the case is to be referred to
the director of the centre.

Which course of action should be taken for Manish Kumar based on the following information?

Manish Kumar : M.Sc. in Computer Science with 62% marks. Date of birth : July 10, 1990. 4 years of
experience as a computer teacher. Obtained 40% marks in the interview.

(A) Candidate is not to be selected

(B) Datais inadequate

(C) Caseis to be referred to the director of the centre

(D) Candidate is to be selected as a junior faculty member

@ ~pao T

~eapop

Fra ifer T, stwpfa (X) A fau T gwei @ wA-d st 5= s e @2

Find out which of the figures can be formed from the pieces given in figure (X) ?

N
[

X
(A) E (8) IB (©) (D) BI
ST I ET

Find the next one.

MAR
4 -A » -V

TForerrt #f == Hfed 1280 ZHRE 1 UF F98 UF T 3 4T W w0 E | Al 00 15 7 F fan, v
o &, @ wqp d T fogs E2

A group of 1280 individuals, consisting of teachers and students, is attending a conference. For every
15 students, there is one teacher. How many teachers are in the group ?

(A) 80 (B) 85 (C) 70 (D) 75

o =7 |
Find the odd one out.

() '\ﬂ‘ (8) } e | N (D) -?{\

https://ctcp24.com/KeyChallenge/Candidates/Challenge.aspx

UPPRPB

--Select--

--Select--

--Select--

--Select--

--Select--

--Select--

--Select--

© All rights reserved

--Select--

--Select--

--Select--

--Select--

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

11/12


https://ctcp24.com/Qimg401/M2IQ1327.jpg
https://ctcp24.com/Qimg401/M2RA1530.jpg
https://ctcp24.com/Qimg401/M2RA1135.jpg
https://ctcp24.com/Qimg401/M2RA1331.jpg
https://ctcp24.com/Qimg401/M2RA1088.jpg
https://ctcp24.com/Qimg401/M2RA1371.jpg
https://ctcp24.com/Qimg401/M2RA1346.jpg
https://ctcp24.com/Qimg401/M2RA1382.jpg
https://ctcp24.com/Qimg401/M2RA1545.jpg
https://ctcp24.com/Qimg401/M2RA1450.jpg
https://ctcp24.com/Qimg401/M2RA1665.jpg

9/13/24, 8:04 AM

142

143

144

145

146

147

148

149

150

Join lelegram Group "HaryanaJdobs.in®

s A g v W EfEiEn § | FE- e s ? D

Which of the following figures will come in the missing place in the below figure ?

O CRE
2 [0) = [V] =[A] =[O

|G g0 L : D
ﬁ"ﬁ:m::i{@'l:

(A) THEA (B) 3w (C) wralus (D) =@
Complete the analogy :

Rain : Flood :: Drought :

(A) Storm (B) Harvest (C) Abundance (D) Famine

FreAfafEa sfaen § o S@ F geE i C
Identify the incorrect number in the following series.

12,10,6,1, -8, —18

(A) 10 (B) —-18 e 1 (D) 12

TF G G, W (Gl 100 dF1 9 F I ¥ W S, UF faarsgl ofF o o @ o 815 WE A
F =g, Wferd & 130 % ¥, 91 F 90 &% &, =l % 120 siw ¥ sin Sz & 110 o ¥ 9k Aas A yewt

3 3T § 30 3= wrd fEu, 1 sifm 2 a9 § o faa siw g ?

In a game, each player starts with 100 points. In each round, a player can gain or lose points. After

5 rounds, Alice has 130 points, Bob has 90 points, Charlie has 120 points, and David has 110 points.

If David gained 30 points in the first 3 rounds, how many points did he lose in the last 2 rounds ?

Ay 20 (8) 30 () 10 (D) 40

T TE FHEH Fd 9, 25 D1 A T JT8 U e § I @ 1 el e | AT w AR A4 2 e C
= 7 7, 41 A A F A d 9w g, @ s faim w5 % fau s 34 5 =gEes gem

27

In a school sports club, 25 students decided to participate in a table tennis singles tournament. Each

time a student loses a match, they are eliminated from the tournament. What is the minimum number
of matches required to determine the winner ?

A) 26 (B) 27 (C) 24 Dy 25

FH- A F AN F T, T UF FH F SHF W02 T8 F HAHIT UF W G FE A6 E 2 C
(A) THEA (B) TN (C) RN (D) Ul

What is the shape of the cross-section, when a cone is cut by a plane parallel to its slant height 7

(A) Circle (B) Hyperbola (C) Parabola (D) Elipse

TF FAHA @i - S wi e § F#HiE I C

(A)  Tr-FefeRoi Sl wia S e Sl S qe § S vaE % eEsd ¥

(B) TR-TeTeR Sl wd YA | W F €, Fars At S wa geEt § wh w9 )

(C) TRV il il 1 W &% T w@rwias w9 § 5 H 99 s T ¥, waiw -
Fil Hd T F HwA

(D) A F HE G ¥ =i Ty S w6 e

A renewable and non-renewable energy source are different because ;

(A) Non-renewable energy sources are more environmentally friendly than renewable energy
sources.

(B) Non-renewable energy sources are derived from the Sun, while renewable energy sources are
derived from the Earth.

(C) Renewable energy sources can be replenished naturally over time, while non-renewable energy
sources cannol.

(D) Renewable energy sources are finite, while non-renewable energy sources are infinite.

few T o A fosgeli (@rdrem ) =1 gEn 9 B
Find out the number of triangles in the figure.
1
3/4]|15\6
718
10 1 2 s
14 16
15
(A) 46 (B) 60 (C)y 32 (D) 39
AEA+BR I ETFA B R ELAxBF M EIFA BT EMA-BT 0 TR A, BH =87 D

%, Freffafed 3 9 Sh-m gea goim & 6, K 7 e £2

If A+ B means Ais the brother of B; Ax B means Ais the father of B and A — B means A s the sister of
B, which of the following relations shows that | is the niece of K ?

A) Z-IxY+K (B) KxY+I1-2 C) K+Y+Z-1 (D) K+¥YxI-Z
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